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No. of Printed Pages — 7

©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010

SENIOR SECONDARY EXAMINATION, 2010

flÒ∑§ÁÀ¬∑§ flª¸  III — ( OPTIONAL GROUP III — Commerce )

•ÊÁÕ¸∑§ ∞fl¢ ÁflûÊËÿ •äÿÿŸ ó ¬˝Õ◊ ¬òÊ
( Economic and Financial Studies — First Paper )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should be
treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. ÁŸ’ãœÊà◊∑§ ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal choices in the essay type question nos. 23 and 24.

7. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 7 Ã∑§ ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 30 ‡ÊéŒÊ¥ ◊¥ ŒŸ „Ò¥U –
Give the answers of the question nos. 2  to 7  in thirty words each

approximately .

8. ¬˝‡Ÿ ‚¢ÅÿÊ 8 ‚ 15 Ã∑§ ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª •Êœ ¬ÎDÔU ◊¥ ŒŸ „Ò¥U –
Give the answers of question nos. 8 to 15 in about half page each.

9. ¬˝‡Ÿ ‚¢ÅÿÊ 16 ‚ 21 Ã∑§ ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª ∞∑§ ¬ÎDÔU ◊¥ ŒŸ „Ò¥U –
Give the answers of question nos. 16 to 21 in about one page each.

10. ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 3 ‚  4 ¬ÎDÔUÙ¥ ◊¥ ŒŸ „Ò¥U –
Give the answers of question nos. 22  to 24  in 3 to 4 pages each

approximately.

11. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has

four alternatives A, B, C  and D . Write the letter of the correct

alternative in the answer-book at a place by making a table as

mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)
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1. (i) ““üÊ◊ ∑§Ê flÃŸ „UË ◊¡ŒÍ⁄UË „ÒU –”” ÿ„U ∑§ÕŸ „ÒU

(•) ¬˝Ê0 ‚Á‹ª◊ÒŸ ∑§Ê (’) ¬˝Ê0 ◊Ê‡Ê¸‹ ∑§Ê

(‚) ¬˝Ê0 ’Ÿ„U◊ ∑§Ê (Œ) ¬˝Ê0 flË0 ‚Ë0 Á‚ã„UÊ ∑§Ê –

“Wages are Salary of Labour.” This statement is of

(A) Prof. Seligman (B) Prof. Marshall

(C) Prof. Benham (D) Prof. V. C. Sinha. 1
2  

(ii) ‡ÊÈh ‹Ê÷ ‚ •Á÷¬˝Êÿ „ÒU

(•) ‚∑§‹ ‹Ê÷ – •S¬c≈U ‹ÊªÃ¥ 

(’) ∑È§‹ •Êª◊ – ( S¬c≈U ‹ÊªÃ¥ + •S¬c≈U ‹ÊªÃ¥ )

(‚) ∑È§‹ •Êª◊ – S¬c≈U ‹ÊªÃ¥

(Œ) ∑È§‹ •Êª◊ – ¬Á⁄UflÃ¸Ÿ‡ÊË‹ ‹ÊªÃ¥ –

Net profit means

(A) Gross Profit – Implicit costs

(B) Total Revenue – ( Explicit costs + Implicit costs )

(C) Total Revenue – Explicit costs

(D) Total Revenue – Variable costs. 1
2  

(iii) fl„U ‹ÊªÃ ∑§ÊÒŸ-‚Ë „ÒU, Á¡‚∑§Ê ©Uà¬ÊŒŸ ∑§Ë ◊ÊòÊÊ ‚ ‚¢’¢œ Ÿ„UË¥ „UÊÃÊ ?

(•) ¬Á⁄UflÃ¸Ÿ‡ÊË‹ ‹ÊªÃ (’) ÁSÕ⁄U ‹ÊªÃ

(‚) ‚Ë◊ÊãÃ ‹ÊªÃ (Œ) •ÊÒ‚Ã ‹ÊªÃ –

Which cost has no relation to quantity of production ?

(A) Variable cost (B) Fixed cost

(C) Marginal cost (D) Average cost. 1
2  
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(iv) ©Uà¬ÁûÊ ∑§Ê ‚Á∑˝§ÿ ‚ÊœŸ „ÒU
(•) ¬Í¢¡Ë (’) üÊ◊
(‚) ÷ÍÁ◊ (Œ) ¡‹ –
The Active Factor of Production is

(A) Capital (B) Labour

(C) Land (D) Water. 1
2  

2. ◊Ê¢ª ∑§Ê ÁŸÿ◊ Á∑§Ÿ ŒÊ ◊ŒÊ¥ ∑§ ’Ëø ‚¢’¢œ ∑§Ê √ÿQ§ ∑§⁄UÃÊ „ÒU ?

Which two items show the relationship in Law of Demand ? 1

3. ““œŸ ◊¥ ©U¬ÿÊÁªÃÊ ∑§Ê ‚Î¡Ÿ ∑§⁄UŸÊ „UË ©Uà¬ÊŒŸ „ÒU –”” ÿ„U Á∑§‚∑§Ê ∑§ÕŸ „ÒU ?

“The creation of utility in money is known as production.” Who

stated it ? 1

4. ¬˝÷Êfl¬ÍáÊ¸ ßë¿UÊ ∑§ ∑§Êß¸ ŒÊ Ãàfl Á‹Áπ∞ – 

Write any two elements of Effective Desire. 1

5. ÷ÊÒªÊÁ‹∑§ ˇÊòÊ ∑§ •ÊœÊ⁄U ¬⁄U ’Ê¡Ê⁄U ∑§ ŒÊ M§¬ Á‹Áπ∞ – 

On the basis of the Geographical area, name two forms of market. 1

6. ◊Ê¢ª ∑§Ë Á’ãŒÈ ‹Êø ÁflÁœ ∑§Ê ‚ÍòÊ Á‹Áπ∞ – 

Write the formula of Point Elasticity Method of Demand. 1

7. Á⁄U∑§Ê«UÊ¸ ∑§ ‹ªÊŸ Á‚hÊãÃ ∑§Ë ∑§Êß¸ ∞∑§ Áfl‡Ê·ÃÊ Á‹Áπ∞ – 

Write any one feature of the Ricardian Theory of Rent. 1

8. ‚∑§‹ ÉÊ⁄U‹Í ©Uà¬ÊŒ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ –

Define Gross Domestic Product. 2

9. ∞∑§ •Õ¸‡ÊÊSòÊË „UÊŸ ∑§ ŸÊÃ •ÊÁÕ¸∑§ ÁŸÿÊ¡Ÿ ◊¥ √ƒÊÊ¬∑§ •Õ¸‡ÊÊSòÊ ∑§ ∑§Êß¸ ŒÊ ©U¬ÿÊª  
Á‹Áπ∞ –

As an Economist, write two uses of Macro Economics in Economic

Planning. 2
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10. ‚◊ ‚Ë◊ÊãÃ ©U¬ÿÊÁªÃÊ ÁŸÿ◊ ∑§ ∑§Êß¸ øÊ⁄U ◊„Uàfl Á‹Áπ∞ – 

Write any four importances of law of Equimarginal Utility. 2

11. •àÿÁœ∑§ ‹ÊøŒÊ⁄U ◊Ê¢ª ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞ –

Explain the Highly Elastic Demand. 2

12. •ŸÈ∑Í§‹Ã◊ ¡Ÿ‚¢ÅÿÊ ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞ –

Define the optimum population. 2

13. ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ÃÕÊ ∞∑§ÊÁœ∑§Ê⁄U ◊¥ ŒÊ •ãÃ⁄U ’ÃÊß∞ – 

State any two differences between perfect competition and monopoly. 

2

14. ∞∑§ÊÁœ∑§Ê⁄U ◊¥ •Êª◊ fl∑˝§ ∑§Ê ÁøòÊáÊ ∑§ËÁ¡∞ – 

Draw a diagram of Revenue Curve in monopoly. 2

15. ⁄UÊc≈˛UËÿ •Êÿ ∑§ ◊Ê¬Ÿ ∑§Ë √ÿÿ ÁflÁœ ∑§Ë Á∑§ã„UË¥ øÊ⁄U ◊ŒÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ – 

Write the names of any four items in Expenditure Method to measure

National Income. 2

16. •Êfl‡ÿ∑§ÃÊ•Ê¥ ∑§ flªË¸∑§⁄UáÊ ∑§ ÃËŸ ¬˝◊Èπ •ÊœÊ⁄UÊ¥ ∑§ ŸÊ◊ Á‹Áπ∞ – 

Write the names of three main bases of classification of wants. 3

17. •Ê«∏UË ÿÊ ÁÃ⁄¿UË ◊Ê¢ª Á∑§‚ ∑§„UÃ „Ò¥U ? SÕÊŸÊ¬ÛÊ flSÃÈ•Ê¥ ∑§ ‚¢’¢œ ◊¥ •Ê«∏UË ◊Ê¢ª ∑§Ê S¬c≈U
∑§ËÁ¡∞ –

What do you mean by Cross Demand ? Explain the cross demand

regarding substitute goods. 3

18. ¬ÍáÊ¸ ¬˝ÁÃÿÊÁªÃÊ ◊¥ ‚ÊêÿÊflSÕÊ Áfl‡‹·áÊ ∑§Ë ◊ÊãÿÃÊ•Ê¥ ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ –

Discuss the assumptions of equilibrium analysis in perfect

competition. 3
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19. ‚Ë◊ÊãÃ •Êª◊ ©Uà¬ÊŒ∑§ÃÊ ∑§Ê ‚ÍòÊ ‚Á„UÃ ‚◊¤ÊÊß∞ –

Explain the Marginal Revenue Productivity with formula. 3

20. ÄÿÊ éÿÊ¡ ∑§Ë Œ⁄U ‡ÊÍãÿ ÿÊ ´§áÊÊà◊∑§ „UÊ ‚∑§ÃË „ÒU ? √ÿÊÅÿÊ ∑§ËÁ¡∞ –

Can there be a zero or negative Rate of Interest ? Explain it. 3

21. ÁŒ∞ ª∞ •Ê¢∑§«∏UÊ¥ ‚ ‚Ë◊ÊãÃ ©U¬ÿÊÁªÃÊ fl ∑È§‹ ©U¬ÿÊÁªÃÊ ◊¥ ‚¢’¢œ ∑§Ë √ÿÊÅÿÊ ∑§⁄¥U —

ß∑§Êß̧ 1 2 3 4 5 6 7

‚Ë◊ÊãÃ ©U¬ÿÊÁªÃÊ 5 10 15 10 5 0 – 5

∑È§‹ ©U¬ÿÊÁªÃÊ 5 15 30 40 45 45 40

Explain the relationship between marginal utility and total utility on

the basis of given data : 3

Units 1 2 3 4 5 6 7

Marginal utility 5 10 15 10 5 0 – 5

Total utility 5 15 30 40 45 45 40

22. •ÊÁÕ¸∑§ ¬˝áÊÊ‹Ë Á∑§‚ ∑§„UÃ „Ò¥ ? ß‚∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ ÃàflÊ¥ ∑§Ê ‚◊¤ÊÊß∞ –
What is Economic System ? Explain the factors effecting it. 6

23. ∞∑§ •Õ¸‡ÊÊSòÊË „UÊŸ ∑§ ŸÊÃ ÷Ê⁄UÃ ◊¥ ◊ÊÀÕ‚ ∑§ ¡Ÿ‚¢ÅÿÊ Á‚hÊãÃ ∑§Ë Á∑˝§ÿÊ‡ÊË‹ÃÊ ¬⁄U ∞∑§
ÁflSÃÎÃ Á≈Uå¬áÊË Á‹Áπ∞ –

•ÕflÊ
•ŸÈ∑Í§‹Ã◊ ¡Ÿ‚¢ÅÿÊ Á‚hÊãÃ ∑§Ë ◊ÊãÿÃÊ•Ê¥ ∞fl¢ •Ê‹ÊøŸÊ•Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
As an economist write a detailed note on the effectiveness of

Malthusian theory of population in India. 6

OR

Describe the assumptions and criticism of the Optimum theory of

population.
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24. •ÊÁÕ¸∑§ ∑§ÀÿÊáÊ ∞fl¢ ⁄UÊc≈˛UËÿ •Êÿ ∑§ ‚¢’¢œ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –

•ÕflÊ

÷Ê⁄UÃ ◊¥ ⁄UÊc≈˛UËÿ •Êÿ ∑§Ë ªáÊŸÊ ◊¥ •ÊŸ flÊ‹Ë ∑§Á∆UŸÊßÿÊ¥ ∞fl¢ ‚◊SÿÊ•Ê¥ ∑§Ë ÁflfløŸÊ   

∑§ËÁ¡∞ –

Elucidate the relationship between National Income and Economic

Welfare. 6

OR

Discuss the obstacles and problems in the measurement of National

Income in India.

                        


